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PROVINCIAL GOVERNMENT
REPUBLIC OF SOUTH AFRICA

DEPARTMENT OF

EDUCATION

GRADE 12

MATHEMATICAL LITERACY P1
MEMORANDUM
SEPTEMBER 2020

b o o s e e o e o e e e s e e ]

SYMBOL/SIMBOOI. EXPLANATION/VERDUIDELIKING/VERDUIDELIKING

M Method/metode/METODE
MA Method/metode with Accuracy/metode met akkuraatheid

CA Consistent accuracy/konstante akkuraatheid

RCA Rounding/afrond consistent Aceuracy/afrond
konstanteakkuraatheid

A Accuracy/akkuraatheid

O Explanation/verduideliking

C Conversion/omskakeling

S Simplification/vereenvoudiging

RT/RG/RDVRM/RP | Reading from table/Reading from graph/Reading from diagram/Reading
from map/Reading from Plan/lees van grafiek , diagram ,kaart

F Choosing the correct formula/korrekte formule
SF Correct substitution/vervang in a formula/korrekte substitusie iformule
C Opinion/opinie
J Justification/regverdiging
Penalty e.g. for no units, incorrect rounding/afrond off etc. / pennaliseer vir
eenhede, afrond ens.
Re Reason/rede
Ro
AQ Answer/antwoord only ,full marks/punte

This memorandum consists of 9 pages
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Answer/antwoord Only Full Marks/punte

Ques | Solution /oplossing Explanation/verduidelikin | Level
4
1.1.
1.1.1. | Saturday/Saterdag OR/OF 01 June 2019 vv'A 1A Correct F
answer/antwoord/regte L1
antwoord (2)

1.1.2. | £1 =R17,52 F
£235=A L1
~ A= £235x R17,52 ¥v'C 1C Conversion/omskakeling

= R4 117,20 VA 1A Correct
answer/antwoord/regte
antwoord (2)
1.1.3. | Difference/verskil = £235 — £75 vMA IMA Method/metode F
=£160 vA 1A Correct L1
answer/antwoord/regte
antwoord (2)
1.14. |2 i 1A numerator/noemer F
6 Orlof 3 VA 1A Denominator/deler L1
(2)
1.1.5. | New Zealand vs Sri Lanka v'v A 2 A Correct F
answer/antwoord/regte L1
antwoord (2)
1.1.6 | 14 July/Julie 2019 vV A 2 A Correct F
answer/antwoord/regte L1
antwoord (2)
1.2
1.2.1. | Total Distance/totale afstand = 680 km + 570 km vMA | IMA Method/metode M
=1250 km VA 1A Correct L1
answer/antwoord/regte
antwoord (2)
1.2.2. Distance/afstand 520 km M
Speed/spoed = Time/tyd =~ 13hr 1S Substitution/vervang L1
=400 km/hr v CA 1CA Correct

answer/antwoord/regte
antwoord (2)

1.2.3. | Japan v'v'A 28F Substitution/vervang M
(2) L1

1.3.

1.3.1 [2:3 ¥vvA 2A Correct MP
answer/antwoord/regte L1
antwoord (2)

1.3.2 | 0 OR Impossible/onmoontlik v'v'RM 2RM Correct MP
answer/antwoord/regte L1
antwoord  (2)
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1.3.3 |Iwestéhn a9 2l1 9 ch U1 s np LESTRWARRYT TV STOS - CURM Correct MP
Westekant =9.15m v'RM answet/antwoord/regte L1
antwoord  (2)
1.3.4 | Southern side/suidekant=12.10m-20m-1.5m MP
=86m L2
Area = Length/lengte X Breath/breedte
=915mx86m vSF ISF Substitution/vervang
=78.69m> v'CA 1CA Correct
answer/antwoord/regte
antwoord (2
1.3.5 | Area = Length/lengte x Breath/breedte MP
=1215mx 12.10m vAvYA 2A Correct L1
=147.02 m? answer/antwoord/regte
antwoord (2)
1.4.
1.4.1. | Discreet/diskrete data v'v'A 2A Correct D
answer/antwoord/regte L1
antwoord (2)
1.42 | There is no modal value in each set of data. v'v'A 2 A Correct D
Daar is ‘n modus vir alle data stelle answer/antwoord/regte L1
antwoord (2)
1.43 | Range/wydte =99 - 62 vMA IMA Method/metode D
=37 YCA 1A Correct L1
answer/antwoord/regte
antwoord (2)
1.44 | Six/ses OR 06 vVA 2A Correct D
answer/antwoord/regte Ll
antwoord (2)
[36]
QUESTION/VRAAG 2 [38 marks/punte]
Answer/antwoord Only Full Marks/punte
Ques | Solution /oplossing Explanation/verduidelikin | Level
g
2.1.1 | Annual salary is an amount of money earned for the 20 F
whole/entire year/jaarlikse sallaris I geld wat vir.die hele Explanation/verduideliking | L1
jaar verdien is v'v'O 2)
2.1.2 . . R585642,00 F
Monthly Salary/maandelikse sallaris = 1 v 1A Dividing by deel deur L1
12
=R48 803,50 vA
1A Correct
answer/antwoord/regte

antwoord (2)
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2.1.3 | Monthiy'Pérsion Furd Contributioh 'pénsioehfonts’bydrae ' F
= R48 803,50 x7,5% x 12 vMA IMA Multiply/maal by L1
=R43 923,12 vCA 7,5% x 12

1CA Answer/antwoord
Or
Or
Annual Pension Fund Contribution /pensioenfonds bydrae
=R585 642,00 x 7,5% vMA IMA Multiply/maal by
=R43 923,15 vCA 7,5%
1CA Answer/antwoord
@)

2.1.4. | Annual Medical Aid Fund Contribution /mediesefonds F
betaling 1A Multiply/maaling by 12 | L1
=R2160x12 YA 1A Correct
=R25920 vA answer/antwoord/regte

antwoord (2)

2.1.5. | Annual Performance Bonus/prestasie bonus F
= R48 803,50 x95% vMA IMA Multiply/maaling by | L1
= R46 363,33 vCA 95%

1CA Answer/antwoord
2)
2.1.6. | Annual Taxable Income/jaarlikse inkomste F
= (AS + PB) — (APF + AMAF) L2
v'SF v'SF
= (R585 642,00 + R46 363,33) — (R43 923,15 + R25 920) | 2SF substitution/vervang
=R632 005,33 - R69 843,15
=R562 162,21 v CA 1CA Answer/antwoord
3)
2.2.
2.2.1. | 555601 to 708 310 vV A 2A Correct F
answer/antwoord/regte L1
antwoord (2)
222, |R14220 vvA 2A Correct F
answer/antwoord/regte Ll
antwoord (2)
2.2.3. | Actual tax/belasting=inkostebelasting- afslag F
= Income tax calculated on taxable income — Rebate L3
YRG IRT
= 147 891 + 39% (562 005.33 — 555 600) - 14 220 v'v'SF | 2SF Substitution/vervang
_ igz ?2213:)-82 :J;’9(7:A08 14220 (ISA Answer/antwoord
2.2.4 | Net Annual Salary /Netto salaris=belastingbelasbare F

inkomste-




Mathematical Literacy/P1 5

LimpopoDoE/September 2020

N - -
Dewtieadse g tanporephysics:

=R562 162,21 -R136 168.08 v'v'SF

=R425994.13 vCA

i?SF Substitution/vervang
1CA Answer/antwoord

()

2.3
2.3.1 | Loan is an amount of money you request from the bank in 20 F
order to settle an account. /geld benodig van bank om Explanation/verduideliking | L1
rekening te betaalv'v'O (2)
232 | A=-R117299.68 +R3 000 vMA IMA Correct F
=-R114 29968 v'CA method/metode L1
1A Correct
B = - R107 538.22 + R106 764.98 vMA answer/antwoord/regte
antwoord
=-R773.24 YMA
IMA Correct
method/metode
1CA Answer/antwoord
@
2.3.3 | Total Amount =R3 000 X 12 X 20 vAYA 2A Multiply/maal by 12 F
Totale bedrag= R720 000 v'CA and by 20 L2
OrOf 1CA Answer/antwoord
)
Total Amount = R3 000 x 240 vV A
Totale bedrag =R720 000 v'CA
2.3.4 | Interest paid after 20 years = R720 000 R235011 vMA IMA Correct F
Rente na 20 jaar R484 989 v'CA method/metode L1
1CA Answer/antwoord
(2)
2.3.5 | Actual money paid in August geld betaal in Augustes IA R3 000 F
=R3 000 - R57.50 - R233.52 —~R840,72 VA VA 1A Subtracting all L1

=RI1 868.26 v'CA

expenses/alle waardes aftrek
1CA Answer/antwoord

(€)]

(38]
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Answer/antwoord Only Full Marks/punte

Ques | Solution /oplossing Explanation/verduidelikin | Level
g

3.1.1 | Perimeter is the distance around an object. vV O 20 M

Afstand rondom objek Explanation/verduideliking | L1
@)

3.1.2 | Area of the rectangular piece of land/vierkant M
= Lengthlengte x Breath/breedte Ll
=23m X 14 m v'SF 1SF Substitution/vervang
=322m? v'CA 1CA Answer/antwoord

@)
313 | =35m-23m M
=12mvS 18 L2
Simplification/vereenvoudig
Area of the triangular piece of land/drichoek ing
1
=3 base/basis X height/hoogte
= (12m) x (14 m) V'SF
—84m?2 vCA 1SF Substitution/vervang
1CA Answer/antwoord
3)
3.1.4 | Tota/el area = 322 m? + 84 m? vMA IMA Method/metode of M
= 406 m? v'CA Addition L1
1CA Answer/antwoord
2)

3.1.5 | 1,5 m2= 1 bag/sak 1C Conversion/omskakeling | M
1 m? = 0,667 bag/sak v'C L2
406 m%= 0,667 x 406 v'SF 1SF Substitution/vervang

=270,6666667 ¥'S 1S
=271 full bag/saks v'R Simplification/vereenvoudig
ing
OR/ott 1R Rounding/afrond
406
Number of bag/saks = s v'CY'SF
= 270,66.66667 V'S 1C Conversion/omskakeling
=271 full bag/saks v'R ISF Substitution/vervang
18
Simplification/vereenvoudig
ing
IR Rounding/afrond
@)

3.1.6 | Total perimeter/omtrek=35m+ 14m+23m+ 18 m IMA Adding correct values | M

vMA 1CA Answer/antwoord L2
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Number of wooden poles/hout pale = - VA

"{A Dividing by deel deur 2

1CA Answer/antwoord
@
=45 poles vCA
3.2
3.2.1 [ 1m3® =1000/ M
5m? = 5000/ L3
Volume of the dam =nr?* x h
5m* ¥YC =(3,142)(1,5)2 x h ¥§ 1C Conversion/omskakeling
1S Substitution/vervang
h= 5m3 1A Subject of the formular
(3,142)(1,5m)?
_ 5m?
~ 7,0695m?
=0,7mv'CA 1CA Correct
answer/antwoord/regte
antwoord
3.2.2 | Diameter/deursnee = 2r M
=2(1,5m) vMA IMA Correct Values L1
=3m YA 1A Correct
answer/antwoord/regte
antwoord  (2)
(23]
QUESTION/VRAAG 4 [20 marks/punte]
Answer/antwoord Only Full Marks/punte
Ques | Solution /oplossing Explanation/verduidelikin | Level
g
4.1.1 | EastORE vvY'RM 2RM (2) MP
Qos of O L1
4.1.2 | 09/ Nine peoplenege mense/ audiences v'v' RM 2RM (2) MP
L1
413 | 1415 vAVA 2RM Correct order MP
/korrekte Orde (2) L1
Accept:beide
14
1:1,07 Or I
4.1.4 | Turn left towards/draai links G101 YA S5A MP
Tumn right and pass/draai regs na 8 seats/sittplekke v'A Explanation/verduideliking | L2

Tum right at/draai regs by AA 101 and proceed towards
/tot byQ102 v’ A
Go straight to East towards /reguit oos tot byAA 102 v'A

Tum right and/draai regs AA106 is on the extreme right/is

(5)
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4.1.5 | No seat number will be allocated./geen sitplek v'A 1A Correct MP
Due to social distancing rule./sosiale afstand reel, v'v'A answer/antwoord/regte L2
antwoord
2A Justification (3)
4.2
4.2.1 | Three seats OR 3 seats vvA 2A Correct MP
3 sitpkekke answer/antwoord/regte Ll
antwoord {2)
4.2.2 | Eastern side OR East ORE v'v'RM 2RM Correct MP
Oos/o answer/antwoord/regte L1
antwoord  (2)

4.2.3 | NE or North East NO/Noord oos v'v'A 2RM Correct MP
answer/antwoord/regte L1
antwoord  (2)

[20]
QUESTION/VRAAG 5 [33 marks/punte]
Answer/antwoord Only Full Marks/punte
Ques | Solution /oplossing Explanation/verduidelikin | Level
g
5.1.1 | 104 553; 133 198; 167 289; 193 869; 216 217; 270 516; 2RG 2) D
342 976, 351 377, 515937 vvA L1
512 vMA D
3666+4202+6204+6363+6746+ 11926+ 12 381 IMA method/metode with | 1.2
=51488 accuracy
51488 A Dividi
Average Mean/gemiddeld = - VA 1A Dividing by deel deur 7
=7355.428571 1CA Answer/antwoord
(3)
=7355 v CA
5.1.3 | Range /rykwydte= 509 733 - 92 172 vMA IMA method/metode with | D
=417561 vCA accuracy L1
1CA Answer/antwoord
2)
5.14 | Economics [EKONOMIE v v A 2RG (2) D
L1
5.1.5 | Sum of English. TOTAAL ENGELS =515 937 + 509 733 1 MA Answer/antwoord D
vMA 1 CA Answer/antwoord L2

=1025670 v'CA
One million and twenty five thousand six hundred and

seventy /een miljoen vyf en twintig duisend ses honderd en
sewentig v'v'CA

2 CA Answer/antwoord
(4)
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difference/verskil L2
= . candidates < 100%
Original number of—————
oorspronklike
1A Denominator/deler
= LR X 100% vAVA 1A Numerator/noemer
167 289
1S
= 7,734519305 V'S Simplification/vereenvoudig
=~ 8% vR ing
IR Correct
answer/antwoord/regte
antwoord 4
>17 P( province with less than/minder as 6 500) =::~ vYvYAA X 12 gzlrfé?;?i’?ggilg EZ
100%
1A Correct
=57,1% YA answer/antwoord/regte
antwoord 3)
5.2
5.2.1 | Road Passenger Transport/padvervoer 1A 100% D
=100% —(17+15+ 14+ 10+ 6 +5+3 +2)% vAvMA | IMA Addition of correct L2
=28% YA values
1A Correct
answer/antwoord/regte
antwoord (3)
5.2.2 | Difference/verskil = R156 billion.biljoen/miljard — R56 IMA Correct values D
billion vMA 1CA Correct Ll
=R100 billion v'CA answer/antwoord/regte
antwoord (2)
5.2.3 | Accommodation /akkomodasiev'v'RT 4RT 4 |D
Road Passenger Transport /padvervoer v'v'RT L1
5.2.4 | Air/lug Transport = R56 billion/miljard X 13% v'RT IRT R56 billion/miljard & | D
= R7,28 billion/miljard v"CA 13% L2
ICA Correct
Hence answer/antwoord/regte
R7,28 billion/miljard = R7 280 000 000 v'v"CA antwoord

2CA Number in full/volle
getal  (4)

[33]

GRAND TOTAL MARKS/PUNTE: 150




